1 28 7T 28 pf #&

X TITIEH (207T/E) ZEE

K % F—L% TR (FTE#H| TH# | =7 |mIEEk| TR | B2 | BT | R8T
Ak 2 ALLCOLORS 0.417 30 24 10 6 3 5 0 0
J\& Bt ALLCOLORS 0.400 31 30 12 1 13 1 0 4
& 1ErE V—)LRX 0.375 32 24 9 7 4 9 1 0
TH ahth ILIN—=DA VIR 0.333 23 21 7 2 0 0 0 0
T BGR Y—ILX 0.320 28 25 8 3 2 0 0 0
£F Fh ALLCOLORS 0.300 35 30 9 5 7 6 0 0
AR ALLCOLORS 0.300 27 20 6 6 2 0 1 0
/AR HE hLs 0.294 26 17 5 8 2 0 1 0
KE THE ALLCOLORS 0.286 22 21 6 1 5 0 0 1
HiE BEh ALLCOLORS 0.263 25 19 5 6 3 0 0 0
I B YoH—RX 0.227 25 22 5 1 0 4 2 0
ZN ER JILIN—=DA VIR 0.222 30 27 6 3 1 0 0 0
RE fin AL 0.222 21 18 4 3 3 1 0 0
g = hL3 0.214 30 28 6 2 1 1 0 0
EN HEE  [DIILN—TAYIR 0.212 37 33 7 4 2 8 0 0
EE K3t A—=ILT4—X 0.208 28 24 5 4 0 2 0 0
2R KE atys7 0.200 32 25 5 7 1 1 0 0
FaIER #8K DILIN=T#FYH R 0.200 31 25 5 5 3 3 1 0
=H KA atys7 0.200 24 20 4 4 4 0 0 1
i X& a1957 0.200 22 20 4 2 3 3 0 0
IR &1 D ILIN—T AV R 0.190 23 21 4 2 0 1 0 0
X8 HEX a1957 0.174 25 23 4 2 1 0 0 0
THIR #BA  |[ZY557 0.167 22 18 3 3 2 0 1 0
R KF a1957 0.136 23 22 3 1 0 0 0 0
i EE D ILIN—T AV R 0.118 21 17 2 4 2 5 0 0
Bl g a1957 0.111 20 18 2 2 0 1 0 0
ik $hE A—=ILT14—X 0.105 20 19 2 1 1 0 0 0
TE EX ALZ 0.059 21 17 1 4 0 0 0 0




2820 FAST T2 #&

X TITIEH (204T/E) Efe &
| K % F—L4 ITE TR T8 | =47 |mIEEk| TR | BE | BT | K847
2R F= t+t8R1T 0.567 35 30 17 3 2 1 2 0
ARZBEEF #t assembly 0.400 21 20 8 1 2 0 0 0
Fi 2 N TBC 0.391 25 23 9 2 4 1 0 0
R & t+t8R1T 0.389 22 18 7 2 5 2 2 0
HiE o TBC 0.333 22 18 6 3 2 1 1 0
i K— IVRLRABFIKIST 0.333 21 18 6 2 4 1 1 0
EH KB assembly 0.320 29 25 8 4 4 3 0 0
Bk w— TBC 0.318 25 22 7 3 8 1 0 1
BR &3l t++tR1T 0.316 24 19 6 4 4 1 1 0
Fih —th assembly 0.304 27 23 7 4 3 0 0 1
R £8 Gachinkofll & 0.300 27 20 6 7 2 3 0 0
INL RS IVRLRAFIKIST 0.296 27 27 8 0 4 0 0 0
S8 X t++tER1T 0.278 22 18 5 2 1 0 2 0
FalER fin I3—X4557 0.273 26 22 6 4 4 0 0 0
FR t+tER1T 0.267 20 15 4 4 1 3 1 0
ik JEX Gachinkofll & 0.261 26 23 6 3 3 1 0 0
gIE [F IVRLREERISD 0.250 26 24 6 1 5 1 1 0
EE — 8 S 7—X 0.250 25 20 5 4 0 1 1 0
FE B Ia—X4957 0.238 26 21 5 5 4 0 0 0
[ S97—X 0.231 29 26 6 3 1 0 0 0
B K t++tER1T 0.211 20 19 4 1 6 0 0 0
kg = Gachinko{ll& 0.208 34 24 5 10 6 6 0 0
ik RiE IVRLREERISD 0.200 37 25 5 8 2 3 4 0
INRR RS assembly 0.188 20 16 3 3 4 3 1 0
4 BN Ia—X4957 0.176 26 17 3 9 1 0 0 0
WA BB Gachinko{ll & 0.176 22 17 3 5 1 0 0 0
=R E S97—X 0.158 22 19 3 3 0 0 0 0
e g IVRLRABFIKIST 0.125 26 16 2 9 3 3 1 0
SH EE S 7—X 0.125 20 16 2 4 1 0 0 0
£k 24 * Ia—X4957 0.118 22 17 2 5 1 0 0 0
Wik #B Gachinkofll & 0.107 34 28 3 5 2 2 1 0
FTE BEE Gachinkofll & 0.000 22 13 0 9 1 4 0 0




28 WEST 1T 2t #&

XTI (20FT/E) ZEE

K % F—L% ITE |4TiEsk| T8 | 48T |msesk| 70 | B2 | 18617 |A8247
EARK =% ATATUR 0.522 31 23 12 8 7 2 0 0
FBE BT Endless United 0.450 22 20 9 2 0 0 0 0
JEH BEA Endless United 0.450 20 20 9 0 0 0 0 0
hE BEiE ATATUR 0.381 29 21 8 7 7 5 1 0
FHE LI |MaterialsAmry 0.375 22 16 6 6 0 14 0 0
=] & MaterialsAmry 0.360 29 25 9 4 10 5 0 1
IR EE BEEE)—LX 0.357 20 14 5 6 5 2 0 0
JIILE FF#0 MaterialsAmry 0.333 26 21 7 5 2 0 0 0
£k &K 2y 0.333 24 15 5 9 3 0 0 0
XE &3] CLUBCHAPS 0.320 30 25 8 4 12 6 1 0
LA =t Whoops 0.316 24 19 6 5 1 1 0 0
=R #4 MaterialsAmry 0.316 21 19 6 2 4 5 0 0
#H SENATORS 0.316 20 19 6 1 1 1 0 0
Bt E CLUBCHAPS 0.313 22 16 5 6 4 5 0 1
S EX MaterialsAmry 0.308 21 13 4 7 1 1 1 0
AiF FEX ATATUR 0.304 29 23 7 5 6 12 1 0
HH RT x4l 0.292 26 24 7 2 0 0 0 0
AXBH =8 CLUBCHAPS 0.286 34 28 8 6 5 7 0 0
=E KH 2y 0.286 28 21 6 6 3 7 1 1
K SENATORS 0.263 22 19 5 3 0 1 0 0
AO B2 MaterialsAmry 0.250 30 24 6 6 4 5 0 0
ER mE AVTATUR 0.250 25 20 5 4 7 3 1 0
2E EX Whoops 0.240 29 25 6 2 3 2 2 0
g B2 MaterialsAmry 0.238 23 21 5 2 4 0 0 0
ERR HEE  [Whoops 0.222 25 18 4 6 2 2 1 0
EiE_ i STORM 0.222 21 18 4 3 5 0 0 0
ER SENATORS 0.217 25 23 5 2 6 2 0 1
Ho E&sF Whoops 0.211 22 19 4 3 1 4 0 0
BH R Whoops 0.211 22 19 4 3 2 1 0 0
BH FE ATATUR 0.200 24 20 4 4 3 1 0 0
I KEF  [STORM 0.190 27 21 4 6 0 3 0 0
wiE & CLUBCHAPS 0.182 25 22 4 2 1 2 1 0
R #Hhth 2y 0.179 30 28 5 2 2 2 0 0
FE FA CLUBCHAPS 0.176 23 17 3 6 5 4 0 0
mA _BEk MaterialsAmry 0.174 26 23 4 3 5 2 0 0
INEE Eth CLUBCHAPS 0.167 28 24 4 3 3 1 1 0
kg HE oy 0.158 20 19 3 1 0 0 0 0
FH BF TR —LX 0.158 20 19 3 1 2 4 0 0
ENTER x4l 0.150 26 20 3 6 0 0 0 0
e B ATATUR 0.148 32 27 4 5 4 2 0 0
INEFE FF9 |STORM 0.143 20 14 2 6 1 1 0 0
EL HE ATATIUR 0.136 33 22 3 11 1 2 0 0
EORA x4l 0.136 24 22 3 2 0 0 0 0
FH SENATORS 0.130 24 23 3 1 1 0 0 0
2E EF BEHEL)—LX 0.120 29 25 3 4 1 1 0 0
EAXI fn Whoops 0.118 20 17 2 3 1 3 0 0
ik Bt 2y 0.111 22 18 2 4 1 0 0 0
£k K oy )L 0.105 21 19 2 2 0 0 0 0
Fih HH Whoops 0.095 24 21 2 3 0 1 0 0
EXR T Sxd )L 0.069 34 29 2 5 0 0 0 0
5 HE— Whoops 0.056 23 18 1 5 2 0 0 0
FbE B SENATORS 0.056 20 18 1 2 0 1 0 0
BE Sy )L 0.053 20 19 1 1 0 0 0 0
FHR FEARBR [y Tl 0.043 25 23 1 2 0 0 0 0
=2E BA STORM 0.000 23 20 0 2 0 2 1 0
AB #Fih 2y 0.000 22| 17 0 5 1 0 0 0




35 EAST 1T EZEm#E

X TITIEH (207T/E) ZEE
| K A F—L% TR (FTE#H| TH# | =7 |mIEEk| TR | B2 | BT | R8T
g EX ZEP 0.478 27 23 11 4 7 2 0 0
2 4% f$X [EILREDBOX 0.474 24 19 9 5 5 5 0 0
faEp E% SJ Boys Classis 0.462 20 13 6 7 2 2 0 0
=28 BE B JLREDBOX 0.375 23 16 6 6 5 2 1 0
kg Et J27)LaAv X 0.333 25 21 7 4 3 5 0 0
KER B DN ATAR 0.333 20 15 5 5 3 4 0 0
fEiE B —% 0.316 22 19 6 3 0 0 0 0
=ik BiE I2599ITTILK 0.300 26 20 6 6 6 7 0 1
R_EKX k43X 0.300 25 20 6 5 2 5 0 0
[EE K 2599 IToTILK 0.300 25 20 6 4 2 10 1 0
E7 WEIT=vHR 0.292 30 24 7 4 6 8 2 0
EAK B 2599 IToTI)LK 0.286 24 21 6 3 1 2 0 0
INR BB SJ Boys Classis 0.286 20 14 4 6 0 0 0 0
1IFiE $#hth DN ATAR 0.278 24 18 5 6 3 11 0 0
i N k43X 0.278 23 18 5 5 3 2 0 0
BH OBRKER [P RT4XR 0.273 23 22 6 1 5 2 0 0
HE B WEIZ7T=vo R 0.263 20 19 5 1 3 1 0 0
INFFE R (LB T7I=vHX 0.235 28 17 4 8 3 5 3 0
2 EA TJ599IT 0T )LR 0.222 22 18 4 4 1 2 0 0
BE B2E WWEIz=vHIR 0.200 20 10 2 10 4 1 0 0
FTE R¥F WEIT=vHR 0.188 24 16 3 7 3 4 1 0
Kig X R ILREDBOX 0.167 23 18 3 5 7 0 0 0
e fE#EX JS59HIT T )LR 0.167 20 18 3 1 3 5 1 0
Yl kKF ZEPS 0.133 26 15 2 11 4 4 0 0
kg BA J7)LaAVR 0.111 22 18 2 4 0 4 0 0
FigE FHi= —% 0.000 24 18 0 6 0 0 0 0
Fih Sth SJ Boys Classis 0.000 21 13 0 8 0 0 0 0




3 &F

WEST [ ZH

XBEITIES (201TIE) ERXE

K £ F—LI% TR |$TESH| T8 | =37 || T2 | BE | 837 | RET
B R R V=952 0.467 20 15 7 5 5 3 0 0
= =% Killer Whales 0.391 30 23 9 7 6 5 0 0
BA Azalea 0.364 24 22 8 2 5 0 0 0
/v Azalea 0.360 32 25 9 6 12 0 1 1
=R K& VEE=95D 0.353 22 17 6 5 6 1 0 0
FHHEH HEA Killer Whales 0.353 22 17 6 5 6 3 0 0
K Azalea 0.345 37 29 10 8 6 5 0 1
= ME NETSURFRERS 0.333 24 21 7 3 2 4 0 0
A+t BE Killer Whales 0.333 23 18 6 5 2 8 0 0
=i B NETSURFRERS 0.308 34 26 8 7 4 5 1 0
Zik Azalea 0.304 27 23 7 4 4 1 0 0
FIE Rih Killer Whales 0.294 27 17 5 9 2 2 1 0
BHF W Killer Whales 0.290 38 31 9 7 7 0 0 0
JEA Ri& Killer Whales 0.286 29 21 6 7 3 2 1 0
ER K HE  |Killer Whales 0.286 24 21 6 3 5 4 0 0
i B & oF Mats 0.286 21 14 4 7 5 0 0 1
PR 1Rk REH 0.278 21 18 5 3 2 4 0 0
xE M LyRo#—I)LX 0.273 27 22 6 2 0 0 3 0
=i K VEE=95D 0.267 20 15 4 5 3 0 0 0
BiE Azalea 0.250 29 24 6 5 5 1 0 0
HE &k VE=957 0.250 22 20 5 1 6 3 1 0
AR # PN L 0.250 22 16 4 6 0 0 0 0
5 E&J NETSURFRERS 0.250 20 16 4 4 1 1 0 0
R K LyRo#+—ILX 0.222 21 18 4 3 0 0 0 0
Bl = Killer Whales 0.214 22 14 3 8 3 6 0 0
B BT LyRo#—I)LX 0.211 24 19 4 5 0 0 0 0
=t & Killer Whales 0.208 33 24 5 8 4 4 1 0
/R HX LyRo#—ILX 0.200 29 25 5 4 0 0 0 0
JEY NETSURFRERS 0.200 20 15 3 4 5 2 1 0
1&% Azalea 0.190 26 21 4 5 8 3 0 0
X = VE=957 0.133 21 15 2 6 4 3 0 0
BE NETSURFRERS 0.118 22 17 2 2 1 1 3 0
£H Azalea 0.100 26 20 2 6 1 1 0 0
#]AR |BxX & >F Mats 0.083 23 12 1 11 2 1 0 0
(B! NETSURFRERS 0.053 24 19 1 4 0 0 1 0




